RRINAUN)—BEEE

M—I—B&hvT

2020%F10A15H (K)

JIE 152 K £ OUT | I N |Gross| HDCP NET |&E= JIE 42 K 2 OUT | I N | GrRoss| HDCP NET &%
B W B E B 39 38 77 17.6 59.4 | % 61 ARHE F4&E 43 41 84 18.8 65.2

2 ¥ A M X 34 35 69 9.2 598 X 62 Tk ACF 39 44 83 17.6 65.4

3 AH#H R F 39 39 78 17.6 604 X 63 h H % X 48 47 95 29.6 65.4

4 mRE B % 37 39 76 15.2 60.8 | 64 T HE F 40 43 83 17.6 65.4

5 5B E B 41 34 75 14.0 610 65 foIl # & 42 40 82 16.4 65.6 |
6 EE R & 36 39 75 14.0 610 66 Iog 8 F 43 39 82 16.4 65.6 4
7 #® 2 B 38 43 81 20.0 610 67 B K — % 43 39 82 16.4 65.6

8 wE B B 39 41 80| 188 61.2 | 3 68 2 H BEEXXE 46 47 93 272 65.8

9 A K B 40 33 73 11.6 614 X 69 g 5 NERF 40 40 80 14.0 66.0

10 T @ th = 44 35 79 17.6 61.4 | % 70 == AN 3 51 47 98| 320 66.0
11 e T = 35 38 73 11.6 61.4 | % 71 N HOE T 39 35 74 8.0 66.0

12 F BT ZXKB 42 41 83 21.2 61.8 72 # W = 39 40 79 12.8 66.2

13 % B T R 37 34 71 9.2 61.8 73 W B Xk 38 41 79 12.8 66.2

14 B B 38 38 76 14.0 62.0 74 N5 B F 53 50 103 36.8 66.2

15 W B % =F 44 38 82 200 620 | % 75 n % * — 37 35 72 5.6 66.4
16 i X A 34 35 69 6.8 62.2 76 EXER 44 44 88 212 66.8

17 F B IE B 32 37 69 6.8 62.2 77 F K <F 40 35 75 8.0 67.0 X
18 i E F 40 41 81 18.8 62.2 78 A B = BB 45 48 93|  26.0 67.0

19 X R %L F 41 40 81 18.8 62.2 79 &= H = 37 44 81 14.0 67.0

20 B |’ FSF 35 34 69 6.8 622 % 80 E ¥ BEF 45 42 87 20.0 67.0 |
21 a2 B Y 5B 40 40 80 17.6 62.4 81 IR 1% 39 35 74 6.8 67.2

22 ING = 40 40 80| 176 62.4 | X4 82 KEFH £ F 58 46, 104,  36.8 67.2

23 INR LN LDF 41 38 79 16.4 62.6 83 hy KK 38 42 80| 128 67.2

24 L 8 B F 33 34 67 4.4 62.6 84 oW IE — 41 45 86 18.8 67.2

25 X B FEF 41 43 84 212 62.8 | % 85 oW OE X 52 45 97, 296 67.4 %
26 5@ B E 41 37 78 15.2 62.8 86 a0 8 F 44 47 91 23.6 67.4

27 o HE # 33 33 66 3.2 62.8 87 N F B F 46 44 90| 224 67.6

28 mE F R 44 39 83 20.0 63.0 88 OB % T 47 48 95 27.2 67.8 | 4
29 Z H B F 40 37 77 14.0 63.0 89 S £ 46 42 88 20.0 68.0

30 I A # = 35 42 77 14.0 630 | X4 90 % & S&F 45 49 94|  26.0 68.0 X
31 HF K E R 38 38 76 12.8 63.2 91 2B W E R 40 41 81 12.8 68.2

32 H f F /K 43 39 82 18.8 63.2 92 0 E 53 40 35 75 6.8 68.2

33 8 Tt B 35 35 70 6.8 632 | % 93 % & F 45 48 93| 248 68.2

34 B H X E 39 37 76 12.8 63.2 94 W 3 2o 40 40 80 11.6 68.4

35 Fol BB F 44 43 87| 236 634 | X4 95 5 H E Z 43 48 91 22.4 68.6
36 BXiE IE & 41 40 81 17.6 63.4 96 A E RRE 45 46 91 22.4 68.6

37 fa # F I 42 45 87 23.6 63.4 97 FE ZZi# 40 50 90, 212 68.8

38 M % sh F 36 38 74 10.4 63.6 98 E AR F 44 44 88 18.8 69.2

39 W H B X 38 42 80 16.4 63.6 99 07 oH FE K 52 47 99 29.6 69.4 X
40 &= i3] 42 37 79 15.2 63.8 | % 100 = B M F 45 50 95 248 702 | 4
41 FEE F 37 42 79 15.2 63.8 101 = H ) 37 45 82 11.6 70.4

42 w g oA 39 40 79 15.2 63.8 102 = KK F 56 53 109 38.0 71.0

43 AXFH £ & 40 38 78 14.0 64.0 103 w o BT 51 55 106 34.4 71.6

44 WA & 40 38 78 14.0 640 | % BB % B & F 49 51, 100/ 284 716 | %4
45 o L ANEF 43 41 84 200 640 | % 105 58 FhH 55 54 109 332 758 %
46 it 1 40 38 78 14.0 64.0

47 /N B 5 A 42 42 84 200 64.0

48 & # o 45 39 84 200 64.0

49 A 39, 44 83 188 642 BLik—IL @3 @B ® 7 ®®B M® @ @

50 Al H E & 36 40 76 11.6 64.4 | %

51 X & x Al 41 41 82 176 644 [=7EV] =)

52 ol E X 40 48 88 236 64.4 No.da U 0O % 7 Hit N3 TE A & %

03 H $ L&Y 42 39 81 16.4 64.6 No.7 IR & T N3 T R FSF

54 =z BN E 42 44 86| 212 64.8 No.12 = #& 41 F it Noie BFAA BE =

55 RS 41 45 86| 212 64.8 4 No.18 B A H % i Noi6 2= B

56 o BEZ 36 37 73 8.0 65.0

57 ZHE A 37 41 78] 128 652 [RRFFBZX]

58 wH R X 43 4 84 188 652 Bit G66 1§ H £

59 #E # & 36| 42 78 128 652 Ml G69 = B FaxF

60 RIREF 40 38 78 128 65.2 | &




